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SERIE 4

Primera part
Exercici 1
Qld Q2 a Q3 ¢ Q4 c Q5 b

Exercici 2

U2:R2'|2+R3(I1+|2)’ 10:10I1+11|2 ' |2:—8,75A

b) P(Uy)=U; 1, =40-10,625=425W ; P (U,)=U, -1, =10-(~8,75) = -87,5W

c) I(Rl):llzté—izd'—zozzom |(R2):|2:E_§:%=10A
OPCIO A
Exercici 3
u 690
J3 J3 =8,908 A

a.) |L= =

JRZ+ X2 \/402+202
b) P=3-R-1?=3-40-8,908 = 9,52kW
) Q=3 X, -2 =3-20-8,908 = 4,76kvar

P 9522
J3U.I,  +/3-690-8,908

d) fdp=coscp:§: =0,8944

Exercici 4

b) R= p%:0,017862750:0,44659

AU =R -1=0,4465-7,826 =3,494V

AU©6)=1002Y 21003494 _ 15004
U 230

c) 10A
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OPCIO B

Exercici 3

a) P:R-IZ:I:\/Ez /@:M
R 25

b) Z =R+ X2 =252 + 202 =32,01Q; U =71 =32,01-2= 64,02V

c) V,=1-X_=2-20=40V

d Q=-V,-1=-40-2=-80var

Exercici 4
soay | RO
a)
jin(t
, t
10 ms
b) £
33,94V _,,”,VR,Q ,,,,,,,,,,,,,,,,,,,,,,,
in(f
3394 mA — IR()
t
2 2
c) Amb linterruptor tancat: P :U—: 24 =576 W
R 100
2 2
Amb linterruptor obert: P = EU— = l 24 =2,88W

2R 2100
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Seérie 3

Primera part

Exercici 1
Q1 d Q2 a Q3 b Q4 b Q5 ¢

Exercici 2

U 690

a) Ig = = =15,43 A
JRZ+ X2 402 +202

b) I, =315 =26,72 A
c) P=3-R-15=3-40-15,43% = 28,57 kW

d) Q=-3-X¢ 13 =-3-20-15,43% =—14,29 kvar

e) fdp=cosop= P = P = 28,57 =0,894(c)
S JP?+Q® /28572 +14,28

OPCIO A
Exercici 3

a) |=E_@=8,696A

U 230
A N
b) AUjpa¢ =0,03-U =0,03-230=6,9V ; Rpax = YUmax. __69 =0,7935Q
' ' | 8,696
Rmax =p 2- I‘mé\x. = Lmax — Rméx. ‘S — 0179251.5 :33’32m
' S ‘ 2:p 2-0,01786
€) lee = v 230 _ 5904

R 0,7925
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Exercici 4

P 100 132000

J3Ul cos ¢ J/3-400-241.-0,85

a) n(%)=100

b) p = 3 parells de pols

<) F:E:1320200:1280Nm
®  ggg<l
60

d)
Q=S?-P? =\/(\/§-u-|)z—(J§-u-| cosp) =v3-U-1-\1-cos¢’

Q =+/3-400-241-/1-0,85% =87,96kvar

OPCIO B

Exercici 3

C) V2:R2'|2 =4.10=40V

d) P(U,)=U, (I, +1,)=40-14 =560 W

Exercici 4
2 Vo =% Rllisz =10 1001 ?rcioo =V
b) Vo =10V
c) Vo =0V

d) VO :V2 :10V

2 2
o poYo 100 _
R, 100

1w




